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1. Genetic screening is

(a) analysis of DNA to check the
presence of a particular gene in a
person

(b) analysis of gene in a population
(c) pedigree analysis

(d) screening of infertility in parents
2. Which of the following are the major

factors responsible -for the monsoon
type of climate in India?

1. Location

2. Thermal contrast

3. Upper air circulation

4. The Himalayan Mountains

Select the correct answer using the code
given below.

{a) 1 and 4 only
() 1,2, 3 and 4
{c 2, 3 and 4 only .

{(d) 1, 2 and 3 only

3. Consider the following Indian States :

1. Chhattisgarh

Telangana

2

3. Andhra Pradesh
4. Uttarakhand
5

Tamil Nadu
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Which émong,tﬁe. States. éiven above
are the largest and smallest respectively
(in terms of geographical area)? -

(a) 3 and 4 .

Ll LD
(l;) 3 and 2
| c) 1 and 4
(d) 2 andqs:fi; R

4, Who among the following is considered

as the father of genetic engineering?

1 P

{a) Philip Drinker
(b) Paul Berg
(c) Thomas Addison

(d) Alpheus S. Packard Jr.

5. Which of the following cause(s) variation

in the genetic fhaterial of progeny?

1. Sexual reproduction

2. Asexual :I:ep'roduction

3. Mutation§ '

4. Epigenetic changes

Select the correct answer using the code

given below.

-

fa) 2 only. "
(h) 1,2 and 3

{fc) 1,3 and 4

7 LR

(d 1 and 3.only _

-
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6. Match List-I with List-II and select the 9. Match List-1 with List—II and select the

correct. answer using the code given correct answer using the code given
below the Lists : _ below the Lists :
List-T List-II  List-I List-IT
(Plant) (Natural vegetation type) {Geological time scale) (Life-form) |
A. Ebony 1. Moist deciduous L
A. Pleistocene 1. Mammals
B. Shisham 2. Himalayan moist '
C. Walnut 3. Alpine ‘ B. Paleocene ~ 2., Human genus
D. Birch 4. ' Tropical evergreen C. Permian 3. Invertebrates
Code :
ode | D. Cambrian 4. Frogs
fa) A B C D
4 1 2 3 Code :
(b) A B C D
4 2 1 3 @ A B C D
' 2 1 4 3
{c) A B C D
3 2 1 4 (b) A B C D
3 1 2 4 ) A B C D
4 1 2
7. Cobalt is associated with 3
{a) growth hormone d A B C D
3 1 4 2

(c) hemoglobin 10. Measles is a disease caused by

(d) intestinal enzymes .
(@) bacteria

8. Absorption of water in the human body

can be found in (b) virus

1. renal tubule in kidney {c) protozoa

2. hepatic cells in liver (d) worm

3. large intestine

4. pancreatic duct - | 11. Neutrophils and lymphocytes originate
Select the correct answer using the code from

given below.
fa) 1, 2 and 3

(@) kidney tubule

1
(b) 1 and 3 only (b) spleen
() 2 and 4 | (c/ bone marrow
f@) 3 only . (d) lymph node
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12. Match List-I with

List-II and select the

correct answer using the code given

below the Lists :

List-1
(Climate)
A. Mediterranean 1.

List-I
(Characteristic)
Temperature cycle is

 moderated by marine

B. Marine west 2.
coast

C. Dry mid- 3.
latitude

D. Moist 4,
continental

Code :
(a)

(b)
(c)

(d)

A AN N>
= Wwwm ww —~w

WO~ 0O=0wn
MO MY +UT RO

influence

Warm summers and
cold winters with
three months below
freezing. Very large
annual temperature
range

Strong temperature
cycle with large
annual range. Warm
summers to hot and
cold winters to very
cold

Temperature range is
moderate with warm
to hot summers and
mild winters

13. Match List-I with List-II and select the
correct answer using the code given

below the Lists :

List-I
{(Weathering type)

Glacial deposits

vows

water

B-ABVB-0-JMO/1A

Chemical weathering
Mechanical weathering

Deposition by ground-

List-II
(Landform/
Process)
1. Tili
2. Oxidation
3. Plant roots
4, Stalactite

Code :

(a} A B C D
2 3 1 4

(b} A B C D
2 1 3 4

(c) A B C D
4 1 3 2

(d A B C D
4 3 1 2

14. The mandate of the scheme entitled
‘Directly Observed Treatment, Short-
Course (DOTS)’ launched by WHO is to
ensure that

(@)
(b}
()

(@)

doctors treat patients with

medicine for a short duration

-doctors do not start treatment

without a trial

patients complete their course of
drug

patients voluntarily take vaccines

15. If a ship has to go from Chennai to Kochi,
it has to go around Sri Lanka rather than
_crossing through the Palk Strait. Why?

(a)

(b)
(c)

(d)

The Palk Strait has disputed
islands and the Sri Lankan Navy
does not allow the ships to cross
through

It is too shallow for ships to cross

Shipping is prohibited through
the Strait due to its religious
significance connected with the
epic Ramayana

The around Sri Lanka route is
actually shorter than crossing
through the Palk Strait
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16. Penicillin inhibits synthesis of bacterial
(a) cell wall
(b) protein
{c) RNA
(d) DNA
17. Which of the following State capitals of

North-East India is/are connected by
Indian Railways?

1. Imphal
2. Agartala
3. Kohima
4. Aizawl

Select the correct answer using the code
given below.

(@) 1, 2 and 3
(b) 2 and 4
fcj 1,3 and 4
{d) 2 only
18. Most antibiotics target bacterial parasites

interfering with wvarious factors of
growth or metabolism such as

1. synthesis of cell wall
2. Dbacterial protein synthesis
3. synthesis of nuclear membrane

4. mitochondrial function

Select the correct answer using the code
given below.

(@ 1,2 and 3
(b) 1 and 4

{¢) 2 and 3 only
(d} 1 and 2 only

B-ABVB-O-JMO/1A

19. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II
(Region) (State)
A. Baghelkhand 1. West Bengal
B. Kuttanad 2. Madhya Pradesh
C. Saurashtra 3. Kerala
D. Rarh 4. Gujarat
Code :
@ A B C D
2 3 4 1
(b) A B C D
2 4 3 1
fc A B C D
1 3 4 2
{d A B C D
1 4 3 2

20. Which of the following statements with
regard to Portland cement are correct?

1. Silica imparts strength to cement.

2. Alumina makes the cement quick
setting.

3. Excess of lime increases the
strength of cement.

4. Calcium sulphate decreases the
initial setting time of cement.

Select the correct answer using the code
given below.

fa) 2 and 4 only
(b} 1 and 3

{) 1,2 and 4
(d) 1 and 2 only
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21. Match List-I with List-II and select the Code :
correct answer using the code ngen '
below the Lists : o (a A B C D

List-I List-IT 2 4 1 3
(City) (Earthquake zone) b) A B c D
A. Kolkata 1. ZoneV 2 1 4 3
B. Guwahati 2. ZonelV
C. Delhi - 3. Zone III | ) A B C .D
D. Chennai 4. Zone Il 3 1 4 2
Code : ' d A B C D
(@ A B C D 3 4 1 2
3 2 1 4
) ‘; ’f g - E 24. Match List-I with List-Il and select the
correct answer using the code given
g A B C D below the Lists :
4 1 2 3 '
(d A B C D List-I List-IT
4 2 1 3 4 {Exponent) (Law)

22, Red phosphorus is used in the A. John Dalton 1. Law of definite
manufacture of safety matches. This is : proportion by
due to the. fact that volume
(a) it shov.vs phosphorescen‘ce. L B. Joseph Proust 2. Law of multiple
(b} at ordinary temperature, it is less ;

proportion
reactive than other vanetxes of .
phosphorus ‘ C. Antoine Lavoisier 3. Law of definite
(c) it cannot be converted to white ’ prc?portion by
phosphorus on heating - weight .
{d) it does not react with halogen on D. Joseph Louis Gay- 4. Law of conserva-
heating ' Lussac tion of mass
23. Match List-I with List-II and select the o,
. . . Code :
correct answer using the code given
below the Lists :
. . (@ A B C D
(Lake) (Type) ,
A. Ashtamudi Kayal 1. Residual (sweet ) A B C D
water) 2 4 .3 1

B. Himayat Sagar 2. Lagoon . , ) A B c D

C. Dal Lake 3.  Glacial 1 4 3 2

D. Tsomgo Lake 4. iﬁfsial (sweet @ A B c D

1 3 4 2
B-ABVB-O-JMO/1A - 10
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25. Match List-I with List-II and select the Code ;
correct answer using the code given (@ A B C D
below the Lists : 1 4 2 3
A B C D
List-I List-IT () 1 9 4 3
Farmi rea State,
(Farming area) (State) ©) A B C D
A. Doab 1. Assam 3 4 2 1
. (d A B C D
B. Char 2. Karnataka 3 2 4 1
C. Maidan 3. Punjab 28. Which one of the following statements is
. not correct? '
D.  Terai 4. Uttar Pradesh‘ (a) Water starts boiling when its
vapour pressure becomes equal to
Code : atmospheric pressure. _
(@@ A~ B C D (b) Water is known as universal
3 2 1 4 solvent. :
() A B c D (c) . Permanent hardness of water is °
3 1 2 4 due to presence of MgCl,, CaCl,,
A B C D 2 2
(c) A , MgSO, and CaSO,.
4 ! 2 3 (d) Density of ice is greater than that of
@ A B ¢ D water.
4 2 1 3
: _ 29. Which one of the following is the pattern
26. Which of the following is not gaseous air of circulation around a low-pressure
pollutant? area in the northern hemisphere?
fa) Oxides of sulphur fa) Counter-clockwise and away from
(b) Oxides of nitrogen the centre
{c) Hydrocarbon ' (b) Clockwise and away from the
(d) Smoke centre

' . . . {c) Counter-clockwise and towards the
27. Match List-I with List-II and select the

centre
correct answer using the code given
below the Lists : g | &l (d) Clockwise and towards the centre
_ 30. Which one of the following is not true for
List-] List-IT diamon d?
(Steel mill) (State) (@) Each carbon atom is linked to four
A. Kalinganagar 1. West Bengal other carbon atoms
. ' X (b) Three-dimensional network struc-
' B. Viayanagar 2. Tamil Nadu - ture of carbon atoms is formed
C. Salem 3. Odisha () It is used as an abrasive for
sharpening hard tools
D. Durgapur 4. Karnataka

(d) 1t can be used as a lubricant

B-ABVB-0-JMO/1A 12
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31. Which one of the following statements
about the atmosphere is correct?

(a)

(b)

(c)

(d)

The atmosphere has definite upper
limits but gradually thins until it
becomes imperceptible.

The atmosphere has no definite

upper limits but gradually thins
until it becomes imperceptible.

The atmosphere has definite upper
limits but gradually thickens until
it becomes imperceptible.

The atmosphere has no definite
upper limits but gradually thickens

“until it becomes imperceptible.

32. The atomic theory of matter was first
proposed by

‘ (a)
(b)
(c)
(@)

John Dalton
Rutherford
J. J. Thomson

Niels Bohr

33. Which one among the following statements
about diastrophism is correct?

(a)

(b)

(c)

(@

The forces may be so slow and
gradual that they pass unnoticed
for a long period of time.

The forces may be both slow and
sudden that they pass for a short
period of time. :

The forces may be sudden and so
fast that they pass unnoticed for a
long period of time.

The forces may be slow but for a
short period of time.

B-ABVB-O-JMO/1A

14

34. A body is falling freely under the action of
gravity alone in vacuum. Which one of
the following remains constant during
the fall?

(@)

(b)

(c)

Potential energy
Kinetic energy

Total linear momentum

(d) Total mechanical energy

35. X-rays are

(a)
(b)
fc)

(@)

deflected by an electric field but not
by a magnetic field

deflected by a magnetic field but
not by an electric field

deflected by both a magnetic field
and an electric field

not deflected by an electric field or
a magnetic field

36. Which one of the following minerals
contains mostly silica?

(a)

(b)

(c)

(d)

Mica
Quartz
Olivine

Pyroxene




31. 9gFed & Hedl # fwafiflgd wemt § @ w-w1

T wel o7

(o) agFea 6 Pt Fa0 dd A € wg
Tz oR-R fore o s ;@ 9@ 9% B
%W(mﬁf@w)“—rém|

() IS K FE Pl I dmd
Brelt g 7% oR-+fR Tt Ben s ® 9w
T 6 98 sFaT= A g Wy

(c) argree 6 fiftam s @t @ € wy
Ig iR~ o B < ® oW @ o e
T A B TN

(d) agdes R ¥ Rim Fw @
Beft g a7 M- = e s } s
T T I8 e 7§ W)

32. vl T e Rt W R
e ,
(@) S EREA |
(b) TEHE
(c) o Jo ATHER
(@) Hea R

33. YedEun & SR # f=fafen st 4 @
HE-| TF WL 27

P e Y L
T GHT 9 A 9 B/

(b ¥« He AR AR O B e 3
a1 3 31e9 w9 a% & B '

() o s SR g g R wRa B R 3
T T R ST s @

(d) ¥ W WY U T & T @ weha B
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34. FI§ T FIA Teea-ha % Fefw Fata 7 g

w9 @ fin @ 31 Fefafeaa & @ w9-w1 @,
i & <, for 01 war/af wd 77

(o) == =i

(b) TSt S
() FAILEE G

(d) gﬂmﬁmm

35. X-fowo

(o) T & g fadf 9t & wig geeb
&7 3R 7 At

(b) TR &7 g faafa ad § wg fr
eI I Gl

(c) Grerhra &= of fogq &= oFl g7 &
fagfia 2t &

(d) T &= a1 greh 8w g faafe
Bl §

36. Prefufan wfist # 3 fr o & gom: R

B 87

(@)

(b) WS

(c) s

(d) U=
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37. The focal length of the lens of a normal
human eye is about

{a) 25 cm

(b)

(c)

1 m

2:5 mm

(d 25 cm

38; Which one of the following statements
is correct?

(a)

(b)

(d)

Cold fronts move at slower rate
than warm fronts and therefore
cannot overtake the warm fronts.

Cold fronts normally move faster
than warm fronts and therefore
frequently overtake the warm
fronts.

Cold fronts move at slower. rate,
and eventually they are overtaken
by the warm fronts.

Cold fronts move faster than warm
fronts but they cannot overtake the
warm fronts.

39. Which one of the following physical
quantities is the same for molecules of
all gases at a given temperature?

(a)
(b)
(c)
(d

Speed
Mass
Kinetic energy

Momentum
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40. Newton’s laws of motion do not hold good
for objects

(@)
(b)
(o)
(d)

at rest
moving slowly
moving with high velocity

moving with velocity comparable to
velocity of light

41. Which of the following elements are
found in highest and lowest quantities
respectively in the crust of the earth?

(@)
(b)
(c)
(d)

Oxygen and silicon
Calcium and sodium
Sodium and magnesium’

Oxygen and magnesium

42. Which one of the féllowing statements is
not correct?

(@)

(b)

(c)

(d)

Weight of a body is different on
different planets.

Mass of a body on the earth, on the
moon and in empty space is the
same.

Weightlessness of a body occurs
when the gravitational forces acting
on it are counter-balanced.

Weight and mass of a body are
equal at sea level on the surface of
the earth.

43. A brick is thrown vertically from an
aircraft flying two kilometres above the
earth. The brick will fall with a

(@)
(b)
(c)

(d).

constant speed
constant velocity
constant acceleration

constant speed for some time then
with constant acceleration as it
nears the earth




37. T = A ot ¥ o fit wiew g
T foet St 77

(@ 25 cm
() 1m
(c) 2:5 mm

(d) 25 cm

38, Tr=fafaa sl § | FF-91 & T R?

(@) INCAEW, IUEEY H FU §E A §
T § o zafie swaram @ sm ad
Frrer weRd |

(b) AT WG IWEEW H S O
A | werd § SR ghiIy Sgen IvETam
¥ 3m et S )

| (c) ETam FUEFHA 73 T § FTAd @ AR
¥qa: IVEEH I AW Fed s # )

(d) Yaamam, IwEmE Hi M0 o T
IeId § WY 3 IWEmEy ¥ m Tg et
Foha |

¥

39. FHfafaa fifder TRM™@l § 4 HH-9 &, Tl
faw M qmEE W wdt A ¥ et % fo
e At 27

(@) =

(b) FTEAR
(c) TS S
(d) €&
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40. =R & Tfa % frem 37 axgett % fou v =

g s

(@) Tosm 38

) WMIRRRE

(c) TAIMATMI MR A

(d) TSI % P FH G I W M Q@ B

a1. frefefias o=t & ¥ B LA F P

siftreran o 3R Feram oo § o 9w 80
(a) AR IR Tafernia '
(b) Ficaam 3R Afeam

(c) wifsTm 3R Ffifirm

(d) IdeH IR FHREm

42. Freafafes wuEt 3 @ S9-91 = T T }7

(@ Tt st s &1 9 fe-fm @ =
firm-firm g 21

() Tl sft fie =1 Som geaft W, 95 W
3R ek SR B TEE B R

(c) e oft i < sl Y foufar, so w
M I el Sl % whEgid eR W
Bl 2

(d) gt & Fag W 9gx a9 W e of e
1 IR AR FoF0H quH Bl R

43. gt 9 T Torerfiet I I8a 3¢ Fnell ampEm ¥

T ¢ FealeR P It ¥ Se
(@) for = @
(b) TeRam @ fiwh
(c) &R = 7 fih

(d) ¥ v 7% R == 3 it oi i
gedt & frere o W R @/ fReft

[P.T.O.
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44. This item consists of two statements,
Statement I and Statement II.

Statement I ;

The Kuroshio is a warm north-flowing
ocean current on the west side of the
North Pacific Ocean.

Statement 1I ;

Presence of a number of volcanoes at
the bottom of the Sea of Japan is
responsible for the Kuroshio becoming
warm.

Examine these two statements carefully
and select the answer to the item using
the code given below.

Code :

{a) Both the statements are
individually true and Statement II
is the correct explanation of
Statement I

(b} Both the statements are
individually true but Statement II
is not the correct explanation of
Statement 1

(c) Statement I is true but Statement Il
is false

(d) Statement I is false but Statement II

is true

45. The outside rearview mirror of modern
automobiles is marked with warning
“objects in mirror are closer than they
appear”. Such mirrors are

(a) plane mirrors

(p) concave mirrors with very large
focal lengths

(c) concave mirrors with very small
focal lengths ‘

(d} convex mirrors
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46. A Bill is deemed to be a ‘Money Bill’ if it

has any provisions dealing with

1. imposition, abolition, remission,
‘alteration or regulation of any tax

2. appropriation of money from the
Consolidated Fund of India

3. imposition of fines or other
pecuniary penalties

4. payment of fee for licences or fee for
service rendered

Select the correct answer using the code
given below.

fa) 1 and 2 only
(b) 1, 3 and 4
fc¢g 1,2 and 3

{d) 2 only

47. Consider the following statements about

Alauddin Khalji’s market policy :

1. He placed markets under the
control of a high officer called
‘Shahna’ for strictly controlling the
shopkeepers and prices.

2. In order to ensure a regular sup'ply
of cheap food grains, he ordered the
land revenue from Doab region to
be paid directly to the State.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2




44. @ I A ) HYF §, HUA 1 I FHUA 11

®YA 1 :

FAReN, I8 yIid PR & qiEm h TWE &
] ITARE T RS 91 Bl

Y11 .

UM HIR & AGEIA H A SAegiadi i
e FeN & Few g F foe saeer
2

A FE H gEur ¥ when A it
T Tu MU F H TEN W FH T H TN
LR

*e :

@ SF & wIH Em-I g iR
Y 11, U 1 1 T et &

(b) °F @ FYA rEm-Em wA § g
amn,wnmmﬂmnﬁ%

(¢ H 18 2 g o 11 o @

(d) 1 a ? Frg woF 118 ®

45, =nyfe deemisE % @ vg-ge e (e

) W S edw R awht gl
et @ o @ %, su@ wfin &7 foeht &
HECE L

(a) EHAS 0T B
(b) mrwqﬁmiﬁa’rémaﬁmﬁ%%
(c) g FH HIE g TN TS T A
(d) T T A R
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46. w5 faggs ‘g9 fa9ws’ o wwen smon, =

IHH BIE ITEY

1. f&ft = F afidmm, 3IwE, ofEr,
i fafem @ gefta ¥

2. vra & dfva Bl 3 A wm s AtEm A

3. A W o= e i % aARRmw @

4. IR % o ges @ i T8 Fast %
A o % W™ | wefi &

- few U R F AW R A W g
(a) HadA 1 3R 2

(b)) 1,334

(9

1, 23R 3
(d) Fa9 2

47. AR faosht A som fifs $ M F
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frafafaa weAt w foem Hifvg

1. THEMER iR fimat A w=h ¥ FHEba
FA % T U7 IER B WA AHE
3= Afteerl & FEw #

2. W wEE H fafm g ghfte = &
foe 3 oy R 5 Some &9 @
4-USEd 1 T PaE Ts9 H TR
S

I FoA F | P-T/A wh R
(@) Fad 1

(b) ¥ 2

c) 1 3R 2SH

(d) @ 1MmMAE2
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48. Which one of the following is not a part of
service sector in India? '

(a) Transport
(b} Construction
(c) Hotels and restaurants

(d) Insurance

49. Which of the following is/are not
central feature(s) of Article 343 of the
Constitution of India?

Hindi in Devanagari Script shall be
the national language of the Union.

The official language of the Union
shall be Hindi in Devanagari Script.

English language shall continue to
be used for official purposes within
States.

If two or more States agree, Hindi
language should be the official
language of communication
between the States.

Select the correct answer using the code
given below.

faj 1, 3 and 4
(b) 2 and 4 only
(c) 2,3 and 4

(d) 2 only

B-ABVB-0-~JMO/1A

50. Match List-I with List-II and select the
correct answer using the code given
below the Lists : '

List-1 List-II
(Term) (Meaning)
A. Mihrab 1. Stepped pulpit
B. Mimbar 2. Direction towards the
Kaba for prayer
C. Khutb_a 3. Arch
D. Kibla 4. Sermon
Code :
(@) A B C D
2 1 4 3
() A B C D
2 4 1 3
c) A B C D
3 1 4 2
d A B C D
3 4 1 2

51. Under flexible exchange rate system, the
exchange rate is determined

(a)

(b)
c)

(d)

predominantly by - market
mechanism
by the Central Bank

as a weighted index of a group of
currencies

by the World Trade Organization

52. After the general elections, the Pro tem
Speaker is

(a)
(b)
(c)

(4

elected by the Lok Sabha
appointed by the President of India

appointed by the Chief Justice of
the Supreme Court

the senior most member of the
Lok Sabha




48, T=faflad # @ =F-w1 T, W@ # Y91 &
1 TH 9 T8 7

(a) IREEA
(b) Fmfor
(c) e 3R Tl

(d) s

49, Frfafgg & @ $H-H, wra & dfegm *
. wigeR 343 A g frdwar/Rewad W
B/ :

S LN g g—y
2. g ) gewm T2 g fafy & gefty

3. T # wedhg W@ % fae eash
WT9T o1 FANT TR STan @

4. gfe Q) I itk T wEwa &, o T H
#e gEn f Teve B s e
ofgw)

H fou MU e @1 @ W gd I ghu
(a 1,3 3R 4
(b) Fad 2 3’ 4
c) 2,3 3R 4

(d) Faa 2

B-ABVB-0-JMO/1A - 21

50. TN B Th-II ¥ Wy gk e R

g % = Ry T g2 =1 W@ W oEd W
gf

-1 TqA-11

(vr=2) (are)

A WEUE 1. 9o IwRy-19
B. fimg s e & foe s A

AR Fi e
C. g 3. AR
D. ferscent 4. YHgRT
Fe
@ A B C D
2 1 4 3
() A. B C D
2 4 1 3
‘g A B C D
3 1 4 2
d A B C D
3 4 1 2

51. = fafmm w vl & ofm, fafem <« fores

3R1/fFe w9 ° Fuifa 2t 37

(a) TUFA: ISR 9F g

(b) HET §F T |

(c) T qz1-wngg < wifta gEis % &9 F
(d) a9 =R WA s

52. M YAE! & G, HAeTHICH HAG

(a) < gt g Faifa e s 2
(b) A % TgAT TR g TR s @

(c) S =EE™ % ged Al 51
fopa < @

(d) QR G 1 ST TG el &

[P.T.O.
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53. Match List-I with List-II and select the §5. Match List-I with List-II and select the
correct answer using the code given * correct answer using the code given
below the Lists : below the Lists :

. , _ List-I List-I
List-] _ List-II (Leader) ‘ (Party)
(Person) (Work) . - A. Shyama Prasad 1. Communist Party of
A. Uddanda 1. Sudhanidhi | Mukherjee India
B. Minoo Masani 2. Bharatiya Jana
B. Sayana 2. Mallikamaruta ' Sangh
v C. S. A. Dange 3. Swatantra Party
C. Yadavaprakasa 3. Malatimadhava D. Ashok Mehta 4. Praja Socialist Party
. Code :
D. Bhavabhuti 4. Vaijayanti (@ A B c D
Code : 2 3 1
A (b) A B C D
f@d A B C D 4 1 3 2
2 1 4 3 ) A B C D
2 1 3 4
(v) [3\ ? ? 2D d A B C D
4 3 1 2
(@ 2 4B f g 56. The Rihla was written in
(a) Arabic in the Fourteenth Century
@ A B C D by Ibn Battuta
3 1 4 2 (b) Persian in the Fifteenth Century by
' Abdur Razzaq
54. Which one of the following is not correct (c) Persian in the Thirteenth Century

in the context of industrial clusters

by Ibn Battuta
development in India? : ‘ Y

(d) Italian in the Thirteenth Century by
(a) Industrial clusters play an Marco Polo
important role for the MSME
participants in their inclusiveness,
technology absorption and efficiency

57. Contribution of the manufacturing sector
to environmental degradation primarily
occurs during

improvement
- 1. procurement and use of natural
(b) Industrial clusters are visible in : resources
traditional handloom, handicrafts 2. industrial processes and activities
and modern SME 3. product use and disposal
(c) Industrial cluster programmes in Select the correct answer using the code
India are administered by various given below.
ministries (@) 1 only
(d) Industrial  clusters lead to (b} 2 and 3 only
promotion of monopoly in the ¢/ 1 and 2 only.
market : (d 1, 2 and 3

¢
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53. -1 = G-I & Wiy gl A 3R

gt F 4 T TR w1 o W Ed@ W
g :

-1 H-11

(=atw) (wrd)
A T 1. gty
B. W& 2. Higemred
C. Fgayehl 3. HrTAETYE
D. wayfa 4. st
Fe
(@ A. B C D

2 1 4 3
) A B C D

3 4 1 2

(@ A

0
(Sl w

54. @ # efm W fem ¥ wed #
Frfefea & @ - @ 7 77

(a) e v, MSME wfasnfim % fer,
I gHEYH, MR shde o
2gran Gum § Heequl oftree e §

(b) SENFE R, WERRE U,
weifieq 3R enyfis SME & gers %

(c) vRa ¥ hafes W wewn e

(d) e Wi § IR A TS @
RELERIGIR
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55. §o-1 @ G-I & W gAfaa HiRve R

g % R R T R w1 @ W a9l IT)
g
-1 gH-11
() (ur)
A. wmHYER gaEsfi 1. R s Ol
B. #fF mEwh 2. WA SH
C. THo Uo M 3. wWdad urEl
D. 373k BEal 4. VI WETeTee qiet
e :
@ A B C D
2 3 1 4
) A B C D
4 1 3 2
) A B C D
2 1 3 4
@ A B C D
4 3 1 2

56. fgon fored foreh i€ oft?
(@) =eeEe TaTs) | g1 S BN SRS A
(b) UsEd! TS B gL GRT B A
(o) e was § 31 e FR wRE §
(d) Tt wasd ¥ weR qien g Tt -
(sefera)

57. wEiqwlia fefe €W § fafmin gve ger:
Toraas /ToF R R B 87
1. i SEneEl 1 9o 3R 3T
2. 3RNf FikaTd 3R FEEHaT
3. 3I1e 3w 3R fuem

2 fa T g2 F W W EE IW g
(a) +ad 1
(b) HaA 2 AR 3
(c) Fa 132
(d) 1,233
[P.T.O.




58. Which of the following is/are not central
tenet(s) of the Constitution of India?

1. Prohibits discrimination on
grounds of religion

2. Gives official status to certain
religions

3. Provides freedom to profess any
religion '

4. Ensures equality of all citizens
- within religious communities

Select the correct answer using the code
given below.

fa) 1,2 and 3
(b) 3 and 4 only
{c 2,3 and 4

(d) 2 only

59. The ‘Sur Sagar’ is

o) a medieval treatise on music
composed by Tansen

{b) a poetic work of Surdas
() memories of Bahadur Shah Zafar
| (d) None of the above
60. Private investment in Indian agriculture

is mostly on labour-saving mechaniza-
tion. This could be a response to

(@) rising productivity of agricultural
sector

(b} rising inequality in agriculture

{c) rising wages and tighter labour
market

(d) debt write-off by the Government
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- 61. Which of the following facts are related to

62.

63.
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Burma (Myanmar)?

1. It shares its borders with India,
China, Bangladesh and Vietnam.

2. Itis ruled by a military government.

3. The National League for Democracy
was not allowed to contest the
elections held in the year 2010.

4. Myanmar is a member of ASEAN.

Select the correct answer using the code
given below.

(@ 1 and 3
(b) 2, 3 and 4

c) 1,2 and 4

(d) 1 and 2 only

Who among the following was not a

painter at Akbar’s Court?
(a) Daswanth

(b) Abdus Samad

(¢/ Kalyan Das

{(d) Basawan

Which one of the following is the major

source of gross tax revenue (GTR) for
the Government of India?

(@) Income tax

{b) Corporation tax

(c) Customs duty

(d) Service tax




58. ffafaa & @ ﬂ'—r-m/é, IRE & Gleum
1/ Fe fagia 7 2/37
1. 98 94 & R | fase &1 afady =@
B

T8 HiqH gl H AR ST @ 7

78 frdt oft ot = aee ) @ @
R

4. g uifis wgEr % e wef TR 6
qoa gifam o 31

R fow g 2 w1 W W wd I g
@) 1,23MN3

(b) Fa@ 3 3R 4

(c 2,334

(d) HIA 2

59. ‘T WTR ¥ Y
(a) TR E @ wia | AeashedA vEy
(b) TEM F FA T
(c) TG WS SR B FferAl
(d) T T | FE T

60. ¥ FN A Fft Frowm e s o9 9
e w1 e frweh wiafsran & wror @
Tere &7

(@) F & R ol g8 Iearehal
(b)  F T v g smwmEa

(c) wodt g8 werghat i semRa wEM A
CISIES

(d) TR E O & &2 @A § S
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61. f=fufes 4 @ #+9-3 7o ==l (=) @
eftra 87
1. 3O W, 9H, sreen R fEem 4
areht Hmd g
2. 98 ¥ WER H WA B

3. 99 2010 # T g § WHA ¢ BR
et A AT e W orgufa Ad @
T ofl|

4. TR RAH (ASEAN) %1 96 B
19 fo e g 1w = A I g
(@ 13W3

(b) 2, 33N 4

c) 1,234

(d) Faa 132

, 62. T A HH AFHR & @R § Fomepr 7t o417

(@) &
(b) 3TGEIT
(c) THeam q™
(d) <EEH
63. FfRaa # & FH-W ©H, TR THR F Tl
T T (GTR) %1 967 €1 27
(@) 3TFR
(b) Tm-a=

(c) I~
(d) TE-T

[P.T.O.




64. Which of the following are members
of BRICS?

(a) Bhutan, Russia, India, China and
Sri Lanka

(b) Brazil, Russia, India, China and
South Africa

(c) Brazil, Russia, Indonesia, China
and Singapore

(d) Bangladesh, Republic of Korea,

Indonesia, Canada and Sri Lanka

65. After the death of Shivaji, there was a
fight for succession between

{a) Shambhaji and the widow of Shivaji
(b) Shambhaji and Bajirao
{¢) Rajaram and Shambhaji

(d) None of them

66. Which one of the following is a
non-renewable resource?

{a) Solar energy

(b} Coal

{c) Water

(d) Fisheries
j 67. The Panchsheel Agreement’ for peaceful
{ coexistence was signed between

(@) India and Bhutan

(b) India and Nepal

(¢} India and China .

(d) India and Pakistan

B-ABVB-O-JMO/1A 26

68. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Author) ~ (Work)
A. Somadeva 1. Malavikagnimitra
B. Kalidasa 2. Kathasaritsagara
C. Bhasa 3. Chaurapanchasika
D. Bilhana 4. Svapnavasavadatta
Code :
{a) A B C D
2 1 4 3
(b) A B C D
3 4 1 2
(cg A B C D
2 4 1 3
(d A B C D
3 1 4 2

69. Which one of the following is not an
example of externalities?

(a)
(b)

(c)

(d)

Pollution of air by a cement factory

Health hazard caused to the person
due to smoking by himself/herself

Smoke coming out of neighbour’s
vehicle

Increase in land price of adjacent
plots due to construction of a road
by the Government

70. Rio + 20’ is the short name for

(@)
(b)

()
(@)

Millennium Development Goals

United Nations Conference on
Sustainable Development

Earth Summit
Post-2015 Development Agenda




64. Trfafad # § =9 BRICS % W& §7
(@) YZH, &6, WRE, = 3 et
(b) ST, 9, R, = 3R 3o snhi
(c) S, &4, sEARME, =i o R
(d) SR, HIET TR, TR, FAre
| 3R sfretm
65. Tarsh A gg & varq, IR & g 77 @
o ot AeTs 57
(@) st oiR framsh 6 fyuan
(b) TR R SiE
(c) TRE IR i
(d) T B T

66. F=faflgs § @ $w-w w, smdwwla guea
37

(a) GRS
(b)
(c) ui
(d) WS
67. W@ we-IfdEm ¥ fae ‘defe W
frfafaa o @ e = gwnafa gen a?
(a) Waﬁw@:{'
(b) NRA 3R AuTE
(c) W 3R <=
(d) SRA R wrfheam
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68. G-I ® G-I F Wy gafm A 3dk

gt & = e g Fe oy = Al sW
EELE
-1 -1
(Frae) ()
A. Qg 1. FraEfawfifaE
B. #ifvg@ 2. FHYGRETR
C. 9E 3. SRyEfRe
D. foegm 4. @uaGaeHr
*®e ,
fd A~ B C D
2.1 4 3
) A B C D
3 4 1 2
) A B C D
2 4 1 3
{d A B C D
3 1 4 2

69. Trfafaa # @ FH-w =, et w1 e

& 37 |

(a) Torell difie FREM & 3 I H TG0

(b) T gEUH FA W IW ARG B §Y WA
i _

(c) TSIE % ITEA | 3 T A

(d) TR T USH FH % FoAasy Glewe

@d # #imE 1 3

70. ‘T + 20’ forass fou dfdem am e

(o) GEEsR oy e
(b) G T R G U gile
(c) Y= v w=em
(d) 2015 % 9= % fowm I FHrEig

[P.T.O.




71. Patanjali was

(a) a philosopher of the ‘Yogachara’
school

(b) the author of a book on Ayurveda

(¢) a philosopher of the ‘Madhyamika’ -

school

(d) the author of a commentary on
Panini’s Sanskrit grammar

72. Which of the following statements in
the context of income-environment
relationship is/are correct?

1. Pollution trends tend to follow
an inverse-U shaped relationship
across different stages of economic
development. -

2. In the beginning stage, pollution

increases due to urbanization and
i industrialization.

3. In the later stage, pollution declines
due to structural changes towards
services sector.

Select the correct answer using the code
given below.

{a) 1 only
- (b) 1 and 2 only
{c) 1,2 and 3
(d) 2 and 3 only
73. Which one of the following is not a

member of MERCOSUR (Southern
Common Market)?

(a) Argentina
(b) Paraguay
{¢) Uruguay
(d) Chile
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74. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
(King) (Region)
A. Shashanka 1. Assam
B. Kharavela. 2. Maharashtra
C.. Simuka 3. Orissa

D. Bhaskara Varman 4. Bengal

Code :

() A B C D
4 2 3 1

(b) A B C D
1 3 2 4

{c) A B C D
4 3 2 1

(d)

75. Which one of the following represents a
progressive tax structure?.

(@

(b)

(c)

(@

Tax rate is the same across all
incomes

Tax rate increases as income
increases

Tax rate decreases as income
increases

Each household pays equal
amount of tax
































































